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x, = 4000
x, = 10,000
Total risk = 62,000

3.75 £ ¢y < No Upper Limit

No Lower Limit £ ¢, £ 6.4
5(4000) + 4(10,000) = $60,000

60,000/1,2000,000 = 0.05 or 5%
0.057 risk units
0.057(100) = 5.7%
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[image: image2.png]" No change in optimal solution; there is no upper limit for the range of optimality for ¢,.
No change in the optimal solution; ¢, can increase to 6.4.
~ The allowable increase for c, is e, thus the percentage increase is 0%.

For c,, we obtain 0.3/3.4 = 0.088 The accumulated percentage change is 8.8%. Thus, the 100% rule
is satisfied and the optimal solution will not change.
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All Pro: 1000
College: 200
High School: 0

The sewing constraint and the minimum production requirement for the All Pro model.
Constraint 1: There are 4000 minutes of unused cutting and dyeing time.

Constraint 2: All the sewing time is being utilized at the optimal solution.

Constraint 3: There are 5200 minutes of unused inspection and packaging time.
Constraint 4: Only the minimum number of All-Pro models is being produced.

No Lower Limit<¢; <5
5 £ ¢, < No Upper Limit
No Lower Limit < ¢5 < 4

No amount of decrease in the profit contribution for the All Pro and High School models will cause
the optimal solution to change. A small decrease in the profit contribution for the College model
will cause the optimal solution to change. A small increase in the profit contribution for the High
School model will cause a change in the optimal solution.




